Nonlinear Funct. Anal. & Appl., Vol. 7, No. 3 (2002), pp. 455-463

GENERALIZATIONS OF HARDY INTEGRAL INEQUALITY

Young-Ho Kim and Themistocles M. Rassias

ABSTRACT. In this paper, some new generalizations of Hardy type integral inequalities are proved.

1. INTRODUCTION

The following Inequality is due to Hardy (cf. [1, Theorem 326]): If $p > 1, a_n \ge 0$ and $A_n = a_1 + a_2 + \ldots + a_n$, then

$$\sum \left(\frac{A_n}{n}\right)^p < \left(\frac{p}{p-1}\right)^p \sum a_n^p,\tag{1.1}$$

unless all the a's are zero. The coefficient constant is the best possible.

This inequality was discovered in the course of attempts to simplify the proofs of the Hilbert's double series theorem (cf. [4, Theorem 315]). In fact Hilbert's double series theorem was completed by the above inequality. Moreover, the corresponding Hardy's inequality [1, Theorem 327] for integrals can be stated as follows: If $f(x) \ge 0, p > 1$ and $0 < \int_0^\infty f^p(x) dx < \infty$, then

$$\int_0^\infty \left[\frac{1}{x} \int_0^x f(t)dt\right]^p dx \le \left(\frac{p}{p-1}\right)^p \int_0^\infty f^p(t)dt,\tag{1.2}$$

where $(p/(p-1))^p$ is the best possible constant.

The inequalities given in (1.1) and (1.2), led to great many papers dealing with alternative proofs, various generalizations, and numerous variants and applications in analysis. For the earlier development of this kind of inequality and several important applications in analysis one can see [1, Chapter IX]. It

Received October 21, 2001.

²⁰⁰⁰ Mathematics Subject Classification: 26D15.

Key words and phrases: Hardy's inequality, Hölder's inequality, Bernoulli's inequality.

is obvious that, for parameters a and b such that $0 < a < b < \infty$, the following inequality is also valid,

$$\int_{0}^{b} \left[\frac{1}{x} \int_{0}^{x} f(t)dt\right]^{p} dx \le \left(\frac{p}{p-1}\right)^{p} \int_{a}^{b} f^{p}(t)dt, \qquad (1.3)$$

where $0 < \int_0^\infty f^p(x) dx < \infty$.

The main purpose of this paper is to establish some new generalizations of inequality (1.2) by using a fairly elementary treatment. Our results as special cases yield some recent generalizations of the Hardy's inequality given in [5].

2. Main Results

In this section the function Q is a real valued function such that $0 < Q(s) \le s$ for each s > 0 and Q(0) = 0. In all the theorems it is assumed, without further mention, that the integrals exist on the respective domains of their definitions. Our results are given in the following theorems:

Lemma 2.1. Let $0 < b \le \infty$, pQ(1) > 1, 1/p + 1/q = Q(1), $f \ge 0$, and let $0 < \int_0^b f^{p/Q(1)}(t)dt < \infty$. Then there exists a real number $x_0 \in (0,b)$ such that for any $x \in (x_0, b)$, the following inequality is true:

$$\int_0^x f(t)dt < K_1 x^{(p-Q(1))/pqQ(1)} \left(\int_0^x t^{Q(1)/q} f^{pQ(1)}(t)dt \right)^{1/pQ(1)}, \qquad (2.1)$$

where $K_1 = (p/(p - Q(1)))^{1/qQ(1)} = (p/(p - Q(1)))^{p/(p+q)}$.

Proof. For any $x \in (0, b)$, by Hölder's inequality, we have

$$\int_{0}^{x} f(t)dt = \int_{0}^{x} t^{1/pq} f(t)t^{-1/pq}dt$$

$$\leq \left(\int_{0}^{x} t^{Q(1)/q} f^{pQ(1)}(t)dt\right)^{1/pQ(1)} \left(\int_{0}^{x} t^{-Q(1)/p}dt\right)^{1/qQ(1)} (2.2)$$

$$= K_{1}x^{(p-Q(1))/pqQ(1)} \left(\int_{0}^{x} t^{Q(1)/q} f^{pQ(1)}(t)dt\right)^{1/pQ(1)},$$

where $K_1 = (p/(p - Q(1)))^{1/qQ(1)} = (p/(p - Q(1)))^{p/(p+q)}$. We need to show that there exists a real number $x_0 \in (0, b)$ such that for any $x \in (x_0, b)$, the

equality in (2.2) does not hold. Otherwise, there exists $x = x_n \in (0, b)$, where n = 1, 2, ..., with $x_n \uparrow b$ such that (2.2) becomes an equality. Then there exist c_n and d_n which are not always zero, and satisfy (Kuang [2, p. 29])

$$c_n \left(t^{1/pq} f(t) \right)^{p/Q(1)} = d_n \left(t^{-1/pq} \right)^{q/Q(1)}, \quad \text{a.e. in } [0, x_n].$$

However $f(t) \neq 0$ a.e. in (0, b), thus there exists as integer N such that for $n > N, f(t) \neq 0$ a.e. in $(0, x_n)$. Hence for both $c_n = c \neq 0$ and $d_n = d \neq 0$ for n > N, we obtain

$$\int_{0}^{b} f^{p/Q(1)}(t)dt = \lim_{n \to \infty} \int_{0}^{x_{n}} f^{p/Q(1)}(t)dt$$
$$= \lim_{n \to \infty} \frac{d}{c} \int_{0}^{x_{n}} \frac{t^{-1/pQ(1)}}{t^{1/qQ(1)}}dt$$
$$= \lim_{n \to \infty} \frac{d}{c} \int_{0}^{x_{n}} t^{-1}dt = \infty.$$

This contradicts the fact that $0 < \int_0^b f^{p/Q(1)}(t)dt < \infty$. Therefore (2.1) is valid and this completes the proof of the lemma.

Lemma 2.2. Let $a \ge 0$, pQ(1) > 1, 1/p + 1/q = Q(1), $f \ge 0$, and let $0 < \int_a^{\infty} f^{p/Q(1)}(t)dt < \infty$. Then there exists a real number $x_0 \in (a, \infty)$ such that for any $x > x_0$ the following inequality is true:

$$\int_{a}^{x} f(t)dt < K_{1} \left(T_{a}^{x}\right)^{1/qQ(1)} \left(\int_{a}^{x} t^{Q(1)/q} f^{pQ(1)}(t)dt\right)^{1/pQ(1)},$$
(2.3)

where

$$K_1 = (p/(p - Q(1)))^{1/qQ(1)} = (p/(p - Q(1)))^{p/(p+q)}$$

and

$$T_a^x = x^{(p-Q(1))/p} - a^{(p-Q(1))/p}.$$

Proof. For any $x \in (a, \infty)$, by Hölder's inequality as in Lemma 2.1, we have

$$\int_{a}^{x} f(t)dt \leq \left(\int_{a}^{x} t^{Q(1)/q} f^{pQ(1)}(t)dt\right)^{1/pQ(1)} \left(\int_{a}^{x} t^{-Q(1)/p} dt\right)^{1/qQ(1)}$$
$$= K_{1} \left(T_{a}^{x}\right)^{1/qQ(1)} \left(\int_{a}^{x} t^{Q(1)/q} f^{pQ(1)}(t)dt\right)^{1/pQ(1)}, \qquad (2.4)$$

Y. -H. Kim and Th. M. Rassias

where

$$K_1 = (p/(p - Q(1)))^{1/qQ(1)} = (p/(p - Q(1)))^{p/(p+q)}$$

and

$$T_a^x = x^{(p-Q(1))/p} - a^{(p-Q(1))/p}.$$

We shall show that there exists a real number $x_0 \in (a, \infty)$ such that (2.4) does not assume equality for any $x > x_0$. Otherwise, there exists $x = x_n \in (a, \infty)$, where n = 1, 2, ..., with $x_n \uparrow \infty$ such that (2.4) becomes an equality. By the same argument as in Lemma 2.1 there exist c > 0 and N such that for n > N,

$$\left(t^{1/pqQ(1)}f(t)\right)^{p/Q(1)} = c\left(t^{-1/pqQ(1)}\right)^{q/Q(1)}, \quad \text{a.e. in } [a, x_n].$$

Hence

$$\begin{split} \int_{a}^{x_{n}} f^{p/Q(1)}(t)dt &= c \int_{a}^{x_{n}} \frac{t^{-1/pQ(1)}}{t^{1/qQ(1)}}dt \\ &= c \int_{a}^{x_{n}} t^{-[1/pQ(1)+1/qQ(1)]}dt \\ &= c \int_{a}^{x_{n}} t^{-1}dt \quad \to \infty \quad \text{as} \quad n \to \infty. \end{split}$$

This contradicts the fact that $0 < \int_a^{\infty} f^{p/Q(1)}(t)dt < \infty$. Hence (2.3) holds true and the proof is complete.

Remark 2.1. If we set Q(s) = s in Lemmas 2.1 and 2.2, then our results reduce to the corresponding Lemmas 2.1 and 2.2 obtained in [5].

Theorem 2.3. Let
$$0 < a < b \le \infty$$
, $pQ(1) > 1$, $1/p + 1/q = Q(1)$, $f \ge 0$, and
let $0 < \int_{a}^{b} f^{p/Q(1)}(t) dt < \infty$. Then
$$\int_{a}^{b} \left(\frac{1}{x} \int_{a}^{x} f(t) dt\right)^{pQ(1)} dx$$
$$< K_{2} \frac{q}{Q(1)} \left(1 - \left(\frac{a}{b}\right)^{Q(1)/q}\right) \left(T_{a/b}^{1}\right)^{p/q} \int_{a}^{b} f^{pQ(1)}(t) dt,$$
(2.5)

where $K_2 = (p/(p-Q(1)))^{p/q} = (p/(p-Q(1)))^{pQ(1)-1}$ and $T_a^x = x^{(p-Q(1))/p} - a^{(p-Q(1))/p}$.

Proof. Using (2.3), we obtain

$$\begin{split} &\int_{a}^{b} \left(\frac{1}{x} \int_{a}^{x} f(t) dt\right)^{pQ(1)} dx \\ &< K_{2} \int_{a}^{b} \frac{1}{x^{pQ(1)}} \left(T_{a}^{x}\right)^{p/q} \int_{a}^{x} t^{Q(1)/q} f^{pQ(1)}(t) dt dx \\ &= K_{2} \int_{a}^{b} \left\{\int_{t}^{b} x^{-pQ(1)+(p-Q(1))/q} \left[T_{a/x}^{1}\right]^{p/q} dx\right\} t^{Q(1)/q} f^{pQ(1)}(t) dt \\ &< K_{2} \int_{a}^{b} \left\{\int_{t}^{b} x^{-pQ(1)+(p-Q(1))/q} \left[T_{a/b}^{1}\right]^{p/q} dx\right\} t^{Q(1)/q} f^{pQ(1)}(t) dt \\ &= K_{2} \left[T_{a/b}^{1}\right]^{p/q} \int_{a}^{b} \left\{\int_{t}^{b} x^{-1-Q(1)/q} dx\right\} t^{Q(1)/q} f^{pQ(1)}(t) dt \\ &= K_{2} \frac{q}{Q(1)} \left[T_{a/b}^{1}\right]^{p/q} \int_{a}^{b} \left[1 - \left(\frac{t}{b}\right)^{Q(1)/q}\right] f^{pQ(1)}(t) dt \\ &< K_{2} \frac{q}{Q(1)} \left[T_{a/b}^{1}\right]^{p/q} \int_{a}^{b} \left[1 - \left(\frac{a}{b}\right)^{Q(1)/q}\right] f^{pQ(1)}(t) dt \\ &= K_{2} \frac{q}{Q(1)} \left[1 - \left(\frac{a}{b}\right)^{Q(1)/q}\right] \left[T_{a/b}^{1}\right]^{p/q} \int_{a}^{b} f^{pQ(1)}(t) dt, \end{split}$$

where $K_2 = (p/(p-Q(1)))^{p/q} = (p/(p-Q(1)))^{pQ(1)-1}$ and $T_a^x = x^{(p-Q(1))/p} - a^{(p-Q(1))/p}$. This completes the proof of our theorem.

Remark 2.2. If we set Q(s) = s in Theorem 2.3, then our results reduce to the following inequality

$$\int_{a}^{b} \left(\frac{1}{x} \int_{a}^{x} f(t) dt\right)^{p} dx < q^{p} \left(1 - \left(\frac{a}{b}\right)^{1/q}\right)^{p} \int_{a}^{b} f^{p}(t) dt$$

which was obtained in [5]. This shows that inequality (2.5) is a generalization of inequality (1.2). Also inequality (2.5) is an improvement of (1.3).

Theorem 2.4. Let a > 0, pQ(1) > 1, 1/p + 1/q = Q(1), $f \ge 0$, and let $0 < \int_{a}^{\infty} f^{p/Q(1)}(t) dt < \infty$. Then

$$\int_{a}^{\infty} \left(\frac{1}{x^{\alpha}} \int_{a}^{x} f(t) dt\right)^{pQ(1)} dx < K_{3} \int_{a}^{\infty} \left[1 - \theta_{p}(t)\right] f^{pQ(1)}(t) dt, \qquad (2.6)$$

Y. -H. Kim and Th. M. Rassias

where
$$\alpha = 2 - Q(1)/p - 1/qQ(1), K_3 = (p/(p - Q(1)))^{(p+q)/q} = (p/(p - Q(1)))^{pQ(1)}$$
 and
 $\theta_p(t) = 1 + \frac{1}{pQ(1)} \left\{ \sum_{k=1}^{\infty} {pQ(1) \choose k} (-1)^k \left(\frac{a}{t}\right)^{k(p-Q(1))/p} \right\} a^{(Q(1)-p)/p} t^{Q(1)/q}$
 $> 1 - t^{Q^2(1)-1}$

with $\theta_p(a) = 1 - a^{Q^2(1)-1}/pQ(1)$, for t > a and q > 0. Proof. Applying inequalities (2.3) and (2.4), we have

$$\begin{split} &\int_{a}^{\infty} \left(\frac{1}{x^{\alpha}} \int_{a}^{x} f(t) \, dt\right)^{pQ(1)} dx \\ &< K_{2} \int_{a}^{\infty} x^{-\alpha pQ(1)} \left(T_{a}^{x}\right)^{p/q} \int_{a}^{x} t^{Q(1)/q} f^{pQ(1)}(t) \, dt \, dx \\ &= K_{2} \int_{a}^{\infty} \left\{\int_{t}^{\infty} x^{-2+Q(1)/p} \left(T_{a/x}^{1}\right)^{p/q} \, dx\right\} t^{Q(1)/q} f^{pQ(1)}(t) \, dt \\ &= K_{3} \int_{a}^{\infty} \left\{\int_{t}^{\infty} \left(T_{a/x}^{1}\right)^{p/q} d\left(T_{a/x}^{1}\right)\right\} a^{(Q(1)-p)/p} t^{Q(1)/q} f^{pQ(1)}(t) \, dt \\ &= K_{3} \int_{a}^{\infty} \frac{q}{p+q} \left\{1 - \left(T_{a/t}^{1}\right)^{pQ(1)}\right\} a^{(Q(1)-p)/p} t^{Q(1)/q} f^{pQ(1)}(t) \, dt \\ &= K_{3} \int_{a}^{\infty} \left[1 - \theta_{p}(t)\right] f^{pQ(1)}(t) \, dt, \end{split}$$

where $\alpha = 2 - Q(1)/p - 1/qQ(1), K_2 = (p/(p - Q(1)))^{p/q}, K_3 = (p/(p - Q(1)))^{(p+q)/q} = (p/(p - Q(1)))^{pQ(1)}, T_a^x = x^{(p-Q(1))/p} - a^{(p-Q(1))/p}$, and

$$\theta_p(t) = 1 - \frac{q}{p+q} \left\{ 1 - \left(T_{a/t}^1\right)^{pQ(1)} \right\} a^{(Q(1)-p)/p} t^{Q(1)/q},$$

since

$$\left(T_{a/t}^{1}\right)^{pQ(1)} = \sum_{k=0}^{\infty} \binom{pQ(1)}{k} (-1)^{k} \left(\frac{a}{t}\right)^{k(p-Q(1))/p} \quad (t > a > 0).$$

From this we easily obtain

$$\begin{aligned} \theta_p(a) &= 1 - \frac{1}{pQ(1)} a^{Q^2(1)-1}, \\ \theta_p(t) &= 1 + \frac{1}{pQ(1)} \left\{ \sum_{k=1}^{\infty} \binom{pQ(1)}{k} (-1)^k \left(\frac{a}{t}\right)^{k(p-Q(1))/p} \right\} a^{(Q(1)-p)/p} t^{Q(1)/q} \end{aligned}$$

for t > a > 0. Applying Bernoulli's inequality (see [3, p. 65]), we obtain

$$1 - pQ(1)\left(\frac{a}{t}\right)^{(p-Q(1))/p} < \left[1 - \left(\frac{a}{t}\right)^{(p-Q(1))/p}\right]^{pQ(1)},$$

and therefore one has

$$\begin{split} \theta_p(t) &> 1 - \frac{1}{pQ(1)} \bigg\{ 1 - \bigg[1 - pQ(1) \Big(\frac{a}{t} \Big)^{(p-Q(1))/p} \bigg] \bigg\} a^{(Q(1)-p)/p} t^{Q(1)/q} \\ &= 1 - \frac{1}{pQ(1)} \bigg[pQ(1) \Big(\frac{a}{t} \Big)^{(p-Q(1))/p} \bigg] a^{(Q(1)-p)/p} t^{Q(1)/q} \\ &= 1 - t^{Q^2(1)-1} \end{split}$$

Hence, the proof is complete.

Theorem 2.5. Let $0 < b \le \infty$, $r \ge pQ(1) > 1$, 1/p + 1/q = Q(1), $f \ge 0$, and let $0 < \int_0^b x^{-r+pQ(1)} f^{p/Q(1)}(x) dx < \infty$. Then (i) For $b \in (0, \infty)$, we have

$$\int_{0}^{b} x^{-r} \left(\int_{0}^{x} f(t) dt \right)^{pQ(1)} dx$$

$$< \beta K_{2} \int_{0}^{b} \left[1 - \left(\frac{t}{b} \right)^{r-pQ(1)+Q(1)/q} \right] t^{-r+pQ(1)} f^{pQ(1)}(t) dt,$$
(2.7)

where $1/\beta = r - pQ(1) + Q(1)/q$ and $K_2 = (p/(p - Q(1)))^{p/q} = (p/(p - Q(1)))^{pQ(1)-1}$. In particular, when r = pQ(1) we obtain

$$\int_{0}^{b} \left(\frac{1}{x} \int_{0}^{x} f(t) dt\right)^{pQ(1)} dx < K_{2} \frac{q}{Q(1)} \int_{0}^{b} \left[1 - \left(\frac{t}{b}\right)^{Q(1)/q}\right] f^{pQ(1)}(t) dt.$$
(2.8)

(ii) For $b = \infty$, we have

$$\int_0^\infty x^{-r} \left(\int_0^x f(t) \, dt \right)^{pQ(1)} dx < \beta K_2 \int_0^\infty t^{-r+pQ(1)} f^{pQ(1)}(t) \, dt, \qquad (2.9)$$

where $1/\beta = r - pQ(1) + Q(1)/q$ and $K_2 = (p/(p - Q(1)))^{p/q} = (p/(p - Q(1)))^{pQ(1)-1}$.

Proof. For case (i), $b \in (0, \infty)$, we use (2.1) to obtain

$$\int_{0}^{b} x^{-r} \left(\int_{0}^{x} f(t) dt \right)^{pQ(1)} dx$$

$$< K_{2} \int_{0}^{b} x^{-r+(p-Q(1))/q} \int_{0}^{x} t^{Q(1)/q} f^{pQ(1)}(t) dt dx$$

$$= K_{2} \int_{0}^{b} \left(\int_{t}^{b} x^{-r+(p-Q(1))/q} dx \right) t^{Q(1)/q} f^{pQ(1)}(t) dt$$

$$= -\beta K_{2} \int_{0}^{b} (b^{-r+1+(p-Q(1))/q} - t^{-r+1+(p-Q(1))/q}) t^{Q(1)/q} f^{pQ(1)}(t) dt$$

$$= \beta K_{2} \int_{0}^{b} \left[1 - \left(\frac{t}{b} \right)^{r-pQ(1)+Q(1)/q} \right] t^{-r+pQ(1)} f^{pQ(1)}(t) dt,$$

where $1/\beta = r - pQ(1) + Q(1)/q$ and $K_2 = (p/(p - Q(1)))^{p/q} = (p/(p - Q(1)))^{pQ(1)-1}$. This proves (2.7).

For case (ii), $b = \infty$, we use (2.1) to find,

$$\begin{split} \int_0^\infty x^{-r} \left(\int_0^x f(t) \, dt \right)^{pQ(1)} dx \\ &< K_2 \int_0^\infty x^{-r + (p-Q(1))/q} \int_0^x t^{Q(1)/q} f^{pQ(1)}(t) \, dt \, dx \\ &= K_2 \int_0^\infty \left(\int_t^\infty x^{-r + (p-Q(1))/q} \, dx \right) t^{Q(1)/q} f^{pQ(1)}(t) \, dt \\ &= \beta K_2 \int_0^\infty t^{-r + pQ(1)} f^{pQ(1)}(t) \, dt, \end{split}$$

where $1/\beta = r - pQ(1) + Q(1)/q$ and $K_2 = (p/(p - Q(1)))^{p/q} = (p/(p - Q(1)))^{pQ(1)-1}$. This proves (2.9) and the proof of the theorem is complete. \Box

Remark 2.3. In the limits as $a \to 0$ and $b \to \infty$, and the function as Q(s) = s, (2.6) reduces to (1.2). This shows that inequality (2.6) is a generalization of inequality (1.2). When r = p and Q(s) = s, inequality (2.9) reduces to (1.2). This means (2.9) and (2.7) provide also a generalization of inequality (1.2).

Remark 2.4. If we let Q(s) = s - 1/c(c > 1), in (2.9), then we shall obtain the following inequality:

$$\int_{0}^{\infty} x^{-r} \left(\int_{0}^{x} f(t) dt \right)^{p(1-1/c)} dx$$

$$< K_{*} \left(\frac{1}{r - (1 - 1/c)(p - 1/q)} \right) \int_{0}^{\infty} t^{-r + p(1 - 1/c)} f^{p(1 - 1/c)}(t) dt,$$
(2.10)

where $K_* = (p/(p-(1-1/c)))^{p(1-1/c)-1}$. If we let $c \to \infty$ in (2.10), then one obtains the following inequality:

$$\int_0^\infty x^{-r} \left(\int_0^x f(t) \, dt \right)^p dx < \frac{q^p}{(r-p)q+1} \int_0^\infty t^{-r+p} f^p(t) \, dt.$$
(2.11)

If we set r = p in (2.11) we shall get inequality (1.2).

References

- G. H. Hardy, J. E. Littlewood, and G. Polya, *Inequalities*, Cambridge Univ. Press, London, 1952.
- 2. J. C. Kuang, Applied Inequalities, Human Education Press, Changsha, 1993.
- 3. D. S. Mitrinović, Analytic Inequalities, Springer-Verlag, Berlin, New York, 1970.
- J. A. Oguntuase and C. O. Imora, New generalizations of Hardy's integral inequality, J. Math. Anal. Appl. 241 (2000), 73-82.
- B. C. Yang , Z. Zhuohua and L. Debnath, On new generalizations of Hardy's integral inequality, J. Math. Anal. Appl. 217 (1998), 321-327.

YOUNG-HO KIM DEPARTMENT OF APPLIED MATHEMATICS CHANGWON NATIONAL UNIVERSITY CHANGWON 641-773 KOREA *E-mail address*: yhkim@sarim.changwon.ac.kr

THEMISTOCLES M. RASSIAS DEPARTMENT OF MATHEMATICS NATIONAL TECHNICAL UNIVERSITY OF ATHENS ZOGRAFOU CAMPUS, 15780 ATHENS GREECE *E-mail address*: trassias@math.ntua.gr